QUIZ!



Use a full sheet of 872x11" paper. (Half sheet? Half credit!)

Put only your last name 1n the far upper left hand corner of the

paper, where a staple would hit it. (It's OK to write BIQ, just
start in the corner!)

/%/L‘& ée// AVOID A %-POINT DEDUCTION!

Numbering responses may help you avoid overlooking a question;
it's ok to go ahead and pre-number your sheet.

Feel free to abbreviate.

3 questions plus an E.C.; 2 minutes; 3 points.



Quiz 16, April 28, 2015
2 minutes; 3 points

1. The Jar Wars animated movie talked about the "Tiger". What
1s/was the Tiger?

2. Based on what we looked at on Tuesday, 1s Java, Haskell, Ruby,
or Prolog the most syntactically similar to Groovy?

3. In terms of datatypes, which language has the most in common
with Groovy: Java, Haskell, Ruby, or Prolog?

EC 7 point: In the context of Java, who 1s Duke?



Solutions

1. The Jar Wars animated movie talked about the "Tiger". What

is/was the Tiger?
"Tiger" was the code name for version 1.5 of Java, which

introduced generics, among other things.

2. Based on what we looked at on Tuesday, is Java, Haskell, Ruby,
or Prolog the most syntactically similar to Groovy?
Ruby.

3. In terms of datatypes, which language has the most in common
with Groovy: Java, Haskell, Ruby, or Prolog?
Java.

EC % point: In the context of Java, who is Duke?
The Java mascot.




